Determine the Hamming-code parity bits for the following two sets of data. Assume even parity. 

	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	
	
	0
	
	1
	1
	1
	
	0
	0
	0
	1
	1
	0
	1


Assuming a single-bit error and even parity, locate the offending bit from the two following sets of information. 

	0001
	0010
	0011
	0100
	0101
	0110
	0111
	1000
	1001
	1010
	1011
	1100
	1101
	1110
	1111

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15

	1
	0
	1
	0
	1
	0
	0
	1
	0
	0
	1
	0
	1
	1
	1


	Groups violating parity
	Offending bit

	
	


